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Question 1.

Why did Japan emerge as a developed country inspite of its poor
natural resource?

Answer:

Japan emerged as a developed country inspite of its poor natural
resource because :

¢ As they did not have any other resource they invested in the
development of human resource.

e They import the natural resource needed in their country. They
have invested on people, especially in the field of education and
health.

e These people have made efficient use of other resources, like
land and capital. Efficiency and the technology evolved by
people have made these countries rich and developed.

Question 2.

How are the children of educated parents different from those of
uneducated parents?

Answer:

The children of educated parents are different from those of



uneducated parents in the following ways :

e Children of educated parents get better opportunities and
support in their education.

¢ Their nutritional values are taken care in a better way by the
educated parents in comparison to the uneducated parents.

e The children of educated parents do not lack in hygiene as the
educated parents are conscious about it.

Question 3.

Give an account of educational achievements made in India so far.
Answer:

Over the past 50 years, there has been a significant growth in the
number of universities and institutions of higher learning in
specialized areas.

The plan outlay on education has increased from % 151 crore in the
first plan to ¥ 3766.90 crore in the eleventh plan. The expenditure on
education as a percentage of GDP rose from 0.64% in 1951-52 to
3.0% in 2015-16 (B.E.) and has remained stagnant around 3% from
past few years. The literacy rates have increased from 18% in 1951 to
74% in 2010-11.
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